A 3E—ER

A - 201846 H 13 H (UK) . 14 H (K) HHE R BA
/\./‘.‘ TL N L. AA] -y
it FEB9MIHTE P R AT R (78) BE
sz za Bris ke LS LRI TN A=A
FAEH R4 BT A R Bl d R
HAF #H i 2hr 3Ar [l 5Ar 33 ThE 8z
swmmrny| eAsn 100m Kig $ER) wi1.23 (+25)| 4R #ER(3) w1135 (+2.5)|F% BAK() w1137 (+25)|LLEA BHKE) wi11.53 (+2.5)| 1T #83Q) w163 (+25)|H& K#3) w1167 (+2.5)[F1E #hh(3) w1170 (+2.5)[ %R FBAG) w11.86 (+2.5)
iR amits iR BFEH i8N 8- £l iR AHER 8- RART iR BEHP iR BEHP
6514 200m TKIE $33) w22.60 (+4.3)| KU 34E(3) w23.12 (+4.3)|TEF BAKE) w2322 (+4.3)[ K8 2U(3) w2348 (+4.3)| AF HR(3) w2358 (+4.3)[ LIl HE(3) w23.80 (+4.3)
8- tep 8- aiRds i8N iR WEHRT iR BA+EP iR BEP
6H138 400m BEEH MEQ) 5309|HH EHEG) 53.77 ()l #Q) 54.06[/NEIE KF(2) 5475 Tk KHEQ) 5481 (&8 2U3) 5575|100 ##8(3) 56.43(HM HEQ) 56.54]
HR- RS B HBIESE 8- BES 8- A+EP iR BEHP B WEEHER B =EP iR -BEREE)
6H 148 300m BEEH MEQ) 2:04.63| /P —FE®3) 2:05.36 | #3H# G 2:0838|HE FHE(Q) 2:08.72|/MBE BiAQ) 2:1072|5H# Kib@3) 211.79|HR BH®G) 2:11.81 | FRAEG) 2:13.79
iR RARP #iB-aiRds 18- Ellish iR =AP i\ £l iR BEP iR FRMEBE 8- EFp
6130 1500m M —EG) 41751 |FHE BAE®S) 4:17.52|/D 1 — K@) 4:23.42|788E FNE) 42781 |5HE REQ) 4:28.19|&% [5Q) 4:2823| KiE #Q) 4:3033|ILK &) 4:32.98
R -amish g Eilch iR AR iR £lish =i iR AiRP iRt iR il
6A 14 3000m Ml —KE) 9:2569|Ff £ BMZE®) 9:2589| Ki%E ##(2) 9:3430(EEE FNEQ) 9:39.62| LUK &) 9:4359 /MK HA(2) 9:52.07 (2% BKQ) 9:5337(dt L #EH(2) 9:54.31
iR AR #im- Eilch iRt iR £lish g Eilich #iR-EES =P iR il
64131 Lomi Rl X#Q2) 15.36 (+1.6)| 548 £F®) 15.56 (+1.6) [JR)Il THHH3) 16.38 (+1.6)| R Il E4H(3) 17.05 (+1.6)| 3k LK) 17.15 (+1.6) [/NU8 SRA(2) 17.83 (+1.6)| EhiZ $HE@M) 18.04 (+1.6)| A5 HHA(2) 19.14 (+1.6)
iR AP iR R iR -WEHH FiR-B+ED R B+Ep iR BED iR RARP R WEH AR
HR- RSP 4561 (¥R - E+EH 45.66 [$7i5- BEFH+H 45.80 [#7iR- Lilish 46.01|¥7:8 - BFE P 46.18 ¥R HEP 46.77 [ $7i8 - FRME P 47.04 [$7i8-1LRH 47.07
BE L) I FNEQR) R KBE) FfE HEGR) Wi #e@) ik E£h2) BT BEHEO) fE”KR FEAQ)
6H14H | 4x100mR |42 EA(3) NI KEQ) A #AhE) BB REAERER) RIE K@) £ BRQ BIR BAREM) AE fiKQ@)
HE X Fk XH MR Q) 1ERE WA®B) Wil 2R48(2) FRE &) B AR ®R AEQ)
BE REQ) R BRE) Tk K503) W BXE) AR HEXRQ) T HER) FR EEQ) NG THRQR)
= 1BREO) 1758 MEHQ2) 160| % #HE) 145i%% ZQ) 1.40 Bl BE ) 1.40
6130 e in-EES - EdEh iR R iR LR iR R
1p3::BPNGIC)) 1.40 ik KEQ) 1.40
FR-BEP BRIt
6A 130 fr— BE REQ) 6.15 (+1.9) Rl BHHA) w6.01 (+2.3)|FH1l #AK(3) w5.88 (+3.9)| K& &) 5.60 (+1.4)[;EBE FZAQ) w5.60 (+4.0)|4EQ FH(3) w5.56 (+4.7)|E3 EQ) w541 (+4.4)| /N EBE3) w5.32 (+2.3)
R RFAHD i NEh iR R R BRP R-wAH iR Elish iR AR iR R
6A 148 Bk il K@) 1220 (+1.1)| 8RR K3H(3) w1214 (+2.4)|1ERE FHQ3) w1180 (+3.2)| K& &) wi1.78 (+2.6)|5k 3 #H(3) wil.15 (+3.9)[ Mk RK(3) 10.99 (+0.8)|HEH Sh(3) w10.73 (+2.2)| Il $7:Z2B(3) 10.36 (+2.0)
iR R - EdEh iR Elish iR BRP win- R 8- WEHR S - NS E Rt
6Han | me B HEG 10.38| K& ffiiK(3) 1034[88K Hz©) 1000(&2 BE@Q) 9.90 (eIl THEQ2) 9.67(m75 EAQ) 9.61| ik KFE3) 9.20(%5i% BAERQ) 894
iR R #in- R iR Elish iR Elish Fim-LiBsh iR AP wR-#Ep
6/13~6/14 | mREs: H Kih(2) 1888 B & Eth(3) 1864|HUA FIXRE) 1808(:%i% Z() 1437 [/l £38(1) T46| KB EAQ) 664|Fk EXR(1) 534
R RFAEH P Him- R AP R Rt iR LR - ERp iR LRH iR ERp
61131 110mH 16.77 (+1.6) 17.28 (+1.6) 16.68 (+1.6) 20.26 (+1.6) 22.17 (+1.6) 22.28 (+1.6) 21.33 (+1.6)
6H13H L 8.64 9.25 7.18 7.77 5.27 7.14 5.68
6131 Ak 1.50 1.45 1.40 1.50 1.30 NM NM
6/114 1 400m 59.02 58.20 57.15 1:01.42 1:12.45 1:09.09 1:14.94
2B FRE | eA13n L00m 2 @K@ 11.64 (+1.2)| KE HiK(2) 1176 (+1.2)|F8& L2 11.94 (+1.2)[/NEIE KE(2) 11.98 (+1.2) | BB EHE2) 12.04 (+1.2)[1)Il ZRHEQ) 1214 (+1.2)| KZBE RIQ) 1224 (+1.2)| KHE  8Xi#(Q2) 12.36 (+1.2)
FR-AEP #im- LB R -B+ES R -B+ES iR dmEhE ) iR BEP iRt s £l
vERrnz | enun L00m R —E®O) w1208 (+5.6)| fTill ERRER(1) w1222 (+5.6)|#hK ER(1) w1241 (+5.6)| Ki #RIK(1) w1264 (+5.6)|BE)Il  RE&E(1) w1267 (+5.6)|#0®  Z|iK(1) w1268 (+5.6)| 3% REA(1) w1270 (+5.6) & A1) w12.78 (+5.6)
R BEHH #im-amsh iR -WEHH R -amP #im- Elich iR Elish Fim-LiBsh RN
64130 1500m EE B 45851 |HiE (1) 5:02.83(1E4 #EAE(1) 5:02.90 A*f (1) 5:05.25|FE —H8(1) 5:10.82(&#F HZ(1) 5:19.46 [RA&)II —4(1) 5:21.38 (B Il HRER(T) 5:22.51
FR-AEP #im- ik FH BEHH iR EHES - R iR -NEH iR £l R ERP
Fin REEHH 53.51| %k M+ 53.57|#iim- INFTH 53.62|#iE- Ll 53.99 |3 LB+ 5401 |HiR-ERH 54.57 |35 - BEH 55.04 |35 - EEH 55.18
fEBE Fi(1) B 00 HiE FR1) i) R®) I BHO 1FiE &G '/ 80 &/E ER)
6140 | 4x100mR | &R —H(1) A Eth(1) E% E0) wmE =K R B UNTT (0] 7 BE®W FHR 280
- :: I =E> (D) KB ZX(M) ]RE FHO) &= BAQ) [52= 2 (0] BH EZN) Heh BE1) R B
B BB AR ER(1) bt JEINO) Xig FHO 2 REA) e BEX0) NG BF() Wk RIEx0)
65130 frp— /A 2R wa.76 (+2.1)|iE ZAFA(T) 468 (+1.8)|18& (1) 4.64 (+1.8)|B48 E(1) w4.55 (+2.7)|iEER E(1) 453 (+20)|FIW R wa.27 (+4.4)| %) EBFH) wa.24 (+3.9)|H:B (1) 4.15 (-0.9))
i EES Hin- MET RS i B iR B+ES s Bt ik £l i A iR ERH

w (wind assist) : JEEZE

NM (No Mark) : RdafEL

GR: K2 #chk




A 3E—ER

A - 201846 H 13 H (UK) . 14 H (K) HHE TR BA
Yo o N Y N
it FEBIMIETIE T H P RUA R R (W) BE
sz za Bris ke LEEss LRI TN A=A
ERI5 (¥ BT A R Belid R
HAF #H i 2hr 3Ar M 5Ar 62 ThE 8L
skt ir| 6A13R 100m R HEQ) w1280 (+3.1)| FIR HEZ(Q) w1288 (+3.1)|B/K FREG) w1303 (+3.1)| K& BFEQ) wi3.13 (+3.1)[LH $HLM3) w1334 (+3.1)| R DEQ) w1350 (+3.1) k3t #A®Q) w1352 (+3.1)
iR RARP iR =T 8- tep 8-t ep iR - BFEH B BEPF) iR RHARP
6H 148 200m K BAHE®S) w26.87 (+2.8)| Ki& F&EQ2) w27.34 (+2.8)|F15R £FQ) w27.35 (+2.8)[ &/ 9 w27.72 (+2.8)|FIER B (2) w2777 (+2.8)| £ H $HL\3) w27.97 (+2.8)|#H BE2) w28.07 (+2.8) [/ 3=£A(2) w28.11 (+2.8)
8- tep i/t iR EAP 8- i\ £l iR BEP 8-/t iR HBE—P
6A14H 800m THE ERQ) 2:27.99 iR RF(2) 2:2823|{kBE BEERQ) 2:2907 |{kfE H(2) 2:30.25|ILA KE2) 2:30.40 |8 FEAXQ) 2:3084|£H E#(2) 2:3095| A RIE®) 2:31.91
iR amfits HiB-A+EP 8- RARP iR -BEP iR AHER 8- WiBsh iR alite iR RHARP
6H138 1500m R ORFQ) 5:01.08|{kfE EZ(Q) 5:02.06 &M &KH2) 5:08.86LLEE #EEH(3) 5:1006| £H EXK2) 5:10.09|EEEF #F(3) 5:11.22 |k RFFQ@ 5:13.12(shfE Q) 5:13.81
R -B+E$ B RHAFRP iR - RSB 8- A+EP ik aRidte 8- RART B BEp 8-/t
6A 14 Loomi LU EHKE) w1503 (+45)| /K FHRG) w1523 (+45)|#£# £%2) w1552 (+4.5)|#EE 72D3) wi16.11 (+45)| 548 EQ) w16.31 (+45)|t#E 4 A(2) w16.68 (+4.5)|FLIL #8ZE(3) w16.81 (+4.5)| KFt X&EE®) w16.91 (+4.5),
iR BEEH #im- It iR BRP iR BmERE) iR BEHF R =P iR NEHH iR BEHP
Fim-tep 51.63| 3R - BmEHF) 52.83 78 - AR 52.87|%i%-EEH 5343 | %8 - MEH 534478 - BEFH+ 5351 [#7i%- £ildh 54.57|#ii%- BEH 54.68
K& HEQ Rk B0E) BR BRQ) 1k EEEQ) FR RRQ) g HEHRQ) R EEQ) I Q)
6140 | Ax100mR |/ K #£2%(3) A BEG) ) I HEQ) Heh B#E0) BiE BQ FIER B 3 3 0]
#7 B FE $53) K+ Q) EH XHEFQ) KE HEQ) AH XE®Q) Bk BIEQ) BE H#7HE)
AHE BHREQG) WH EEBEQ) R HEQ) EE HHYQ) R 9@ LIE EBKEQ) B3 HIHQ) TH HLE)
6148 e EHEK Q) 1.46|2U8 EBXQ) 146 ()11# ZFQ) 1.35| 0k < HE2) 1.35[kE HZREQ) 135[8hK DEE) 1.25 ()1 R@) 125(@s HIFIFEA) 1.25
iR BEEH iR BEHP iR WEHR S i BEHT R-FHRE—H iRt FR-#)p - E@ED
6A 14 - FR ORREQ) 498 (+1.6)| FEHR ER(@) 4.90 (+0.9)[{£7% XF®) w469 (+35)| TF Q) wa44 (+32)| B #EIR2) w44l (+36)|FE BEFQ2) w439 (+23)|RFAE #EQ) 438 (+15)(f£f% BHRQ) w421 (+3.4),
RN =R iR Fih iR WEHR S R R iR - BEHT R WEHRS iR BEHT
6130 s EE UG 11.33|# 18%(2) 101 (BHF HIHQ) 1045(E18 FFQ) 895|1 &) 889|HER EHEQ) 8800 EAHW) 84514 R(Q) 759
FR-B+ED iR -BiRE—+h iR £llish iR BRP =i #iR-WHH iRt iRt
6/13~6/14 | mRRsE: B0 BRG) w2025 Bk FERRE) wi948| &tz £EQ) wig22| ¥R XRG) w1554 | EE BH(Q2) w1450 | &4% E8h(2) w1364 | B ETh(2) w1327
FriR- It i BEHP iR WP iR BRP Him- R R R Rt iRt
61131 100mH w 17,12 (+3.5) w 17.39 (+3.5) w 17.85 (+3.5) w 20.26 (+3.5) w 19.43 (+3.5) w 19.18 (+3.5) w 19.04 (+3.5)
6H13H ek 1.35 1.35 1.30 1.30 1.25 .15 115
61141 (R 7.67 7.10 8.62 8.32 5.39 5.61 5.44
6/114 1 200m w 28.34 (+3.5) w 28.47 (+3.5) w 30.19 (+3.5) w 30.56 (+3.5) w 29.65 (+3.5) w 30.08 (+3.5) w 30.64 (+3.5)
2k F LT | 6A13R L00m w F0Q w1305 (+2.9)| BE#E ©DE(2) w1313 (+29)[ ] 92 w1314 (+29)| K& #EQ) wi3.15 (+2.9)[#75 BBHQ) w1324 (+29)[MI8E  BHREQ) w13.26 (+2.9)[E=i% HHY(2) w13.43 (+2.9)[/hB0 EAQ@) w13.46 (+2.9)
iRt i -EEH iR -WEHH iRt iRt iR Elish wn-EES R-HRE—H
ik riT | eAn L00m A BEQ1) w1304 27| &F &) w1351 (+2.7)|E (1) w13.80 (+2.7)|FE Fe&%E(1) w1402 (+2.7) | RBNI E4(1) wi4.15 (+2.7)| LB RE(1) w1436 (+2.7)[KF =F(1) wi4.45 (+2.7)[BE 3£22(1) w14.46 (+2.7)
iR BmEREE) i BEHP iR R iRt - B+Ep R BRP E Rt - =P
6A 148 300m HEE ME0) 2:3255| 5K £A®M) 2:37.38|FH BBER(1) 2:38.43 (s AS AHEL(1) 2:4385| k% BE() 2:45.14 TR Fm(1) 2:4655| 28 BE®1) 24954 |1k HED) 2:49.87
iR NEP Him- R Ew P R RFtHD R BEHP iRt 8- WEHR S #im- il Fim-LiBsh
ik NEh 56.35 | ¥k A+ A+ 56.42|#7iE - Vit 57.12|%iR REEHH 57.23 | ¥R - R 57.30 ¥R RiFch 57.93 |38 HEH RS 59.73|#7i%- B H 1:00.81
Y He0) NI B e SEMEC EF mE0) KFOEPM EE <hixa) FE RREW) ALl DEMD
61140 | 4x100mR | g5 BE(1) E=3 e =00 [ 0] &F D&M EH OO R BE() JIIE: rmt-0)) Bk FHR(0)
HEE ME0) "R BEWD R0 AT HHEI(T) wH*F KRB EE BRTE() TR Fr() HE BHED
I ANREED ®k EBEOD e LI 375:{C) XE BRM B #(1) i RRF(1) B HIFF0
6148 g HEeAR BE1) 491 (+1.5)|FR (1) w4.30 (+2.8)| RANI A1) 428 (H.9)|RHF REM) 417 O.N| I FLEQ) w4.03 (+2.4)| Bk HED(1) 3.99 (+1.2)[BFF &) 3.93 (+2.0)[{£BE FH2(1) 3.82 (+1.7)|
iR BEPE) GR|%71%- W& - B+ES iR R Him-INFh FiR- LB S - BEHH - EED

w (wind assist) : JEJEZE

NM (No Mark) : RdatEL

GR: R #achk




